gbobooogbbbuoooobbodao

oo od

gbbobuoogobbbooodobbon

8u_
ot
oo bongotoonogotboonog
00000000000 O00OA O Laplace-Beltrami DO O0O00OO0OOO

gobbobbobbbbbdooouoooooobbooobobbbo
HEN

Au (1)

%:Au—l—bu (2)
oboboooboobobooosboboobg dve=0000000
000000 (()00000o0ooogogoooooooooooo
godgd

000 (1) 00000 plt,e,y) 0002 00000 ¢, z,y) O
0000000000000000000000000000p(,2,9)
q(t,z,y) OO0 1 0000000000000 0OOOOOOOOOOO
goodoooo

- 1
Voo = — lim _log sup |p(t,x,y) - 1|7
t—o00 t zyEM

%ﬂnz—gg%bgggﬂﬂt%w—lh

0000 Fioe <Moo 000000000 A+b000000000
00000000000000000000000000000000
000000000000000000000000000000000
00000000000000000000000000000L20
00000000000000000000000000000000
00000000000000000000000000000000
00000000000000000000000000000000
0ooo



